Marking instructions

AO

Marks

Typical solution

8(a)

Integrates with one term correct

M1

Obtains fully correct integral

A1

Substitutes limits and obtains
the given answer.
AG

21

R1

j(6——j dx = [ 6x- 24Vx]1

= 6a—24Ja —6+24

= 6a—24Ja +18

Subtotal

Marking instructions

AO

Marks

Typical solution

8(b)

Explains or recognises that area
is linked to integration

2.4

M1

Equates the answer to part (a)
to0

or

Finds intersection point with the
x axis and evaluates an integral
between 1 and their x value.
NB Correct x value is 4

3.1a

M1

Solves 6a — 24+Ja +18=0

to obtain a value for a or Va

or

Equates their area of R1 to their
integrated expression in term of
a for R,

Must have used a positive value
for the area of R4

NB Correct expression for Rz is

8a — 24Ja + 24

1.1a

M1

Completes a reasoned
argument with no errors to
deduce a =9

2.2a

R1

Equal areas, positive and negative,
sointegral 1toa=20

6a—24Ja +18=0
a—4Ja +3=0

Weneeda=9

Subtotal

Question 8 Total |




